CADET COLLEGE SPINKAL [SWTD)

V ENTRAMNCE TEST FOR CLASS 8™
SAMPLE PAPER (ENGLISH)

HAME: ROLL MUMBER:
brevmeICILE: ERAN CENTRE:

TOTAL MARKS: 200 PASS MARKS: 50

TOTAL MARES: 100 Tima: 1:30 Hrs. CODE NO: [Far Gffi= Us= Oy}
NOTE- Wnite your pariiculars onlv on specified place Your paper may be cancelled if any information which can

lead to Yo Edzﬂlll] is provicad st i’.l.‘ir other place in lhe guesiion paper of answer shests.

SEETION-A [QOBIECTIVE) Marks: 50

@#1. CHOOSE THE CORRECT QFTION:
1. 1his is my car, the unserimad word & Prosodn:

A Dwiriutive B C=monsiraine
C. Ingafinits O Al of these
= Thi=fan s made of gon. the underimed word iz FFOUm
Common B Matgrial
. Tollectiva D. Noneofihess
Z. We left the college tate fhe underimed word is advern of
A Blas B. Time:
G, Begres B Mon= of fhese
4 AN played tha game very carafulld, the unoderimea word is advsbaf
A Beazon B Manesar
G Frequancy B, None of thess
3 Each of tha=2 boys got his shate the undedlined word 5 2 pranoun
A Rsistive E. Dizfributive
C DCemonstrative . Hone of thass
& He haz 2 book ths underimed word k53 VErn
& MNon-fite " B. Fnits
C Nodal I Mons ofihese
7. Al plays cricket 3nd watches movies, he underiined woid i conjunciion
A Comelating: E. Coordinating
T Bolh AL S B. Subordinating
g inEihematios iz mol 2 difficull subjecl
A A B No article
£ An O The
g man Is & socinl ammal
& 4 B. Mo aficks
C_An 0 -The
10, Shakespeare was 2 dramatsi
A, Famousiy B, Famoi=
C.BsthA&B B Famed
11 He lumzaif came to my Offics The ungartined word &5 GTaHn
&, Beflexive ‘B. Distributive

E .C Demonsirainve ' Emphaiic
12 Whe has been walenng planis since'maming?

& Adiechve B. Artficle
T MNoun O Promoun
13_Faizalsaw thies monksy= in the callege Zoo.
A Houn B: Artcie
C Prepasiflon B Adjecliva
134 Theszs movies:are highly iecommendzd, the underlined word Iz adjsctive
4 Dinbutve H.  Numeafcai
€. Propsr B Dsmonsirative
15 Hidayal was gatfing lats Ciffice
~. From B o
C. Inio D For
15 My fnend Majam 15 MBA
A A g The
C. Mo aticls I
17 ‘Beading i3 my hobby ., the undefmad word i
A Vam E Infinilve
8 Parlicipls D Semnd:

18 These ar=-my favourite the underimad werd i demonstrative



A. Noun B. adjective

= Eoth ASE G Prounoun
18 ‘He bEcomes wihan his fafieer g2is jate-
A Amsdety B, Amaously
C. Both ASH B Andous
<2 Ghoase the comrecl speiipg
A Explainabon B Espenation
C. Espisinstion D. Expisnation
-21 Come to my Office immedialaly this s alan senience
A Imperative B. Zsszerfive
C interrogaiive O MNone of fhese
22 They love huntng the underdmea word is
A Garund 8. Infinitiés
G Auxifiary O Allof theze
23 The compargiive degres of Beaulifulis
A More Beaotiful E. Most Beautifui
C:. Bath ASS B Noneof these
24, Choose the comact speiiing
A imaginstiva 8. Imagenative
.C Imaganative £. Hone of these
2% You will succsed f you hard
A Work B Worked
‘T Will work D MNone of Ihese
26 -He mads me = iettst
= Wie E.Towriz
T Writing B. MNone
Z7 Yau should Bgrae: Iy propossl
= To B -By
. With B In
28 He did nof aores me
A~ iR i -
& Upon o In _
2%, The bus arrved ihe sizhon al Spm
A oAl BE On
Lo Im D Oves
U, He pelonags Feshawar
A To 8. From
L A B Nome of fhese
31 Heis interesied his siudies.
A From B In
€ of B Al gf these
37 He jumpsd Ihe jver
A Upen 5. Isto
C To g in
33 Who wee knoching the doaor
A DR B &l
C. Gver 0.To
¥4 He told me thal Azlam was angry me
A Al 8 With
L Dn O Cwer
35 He was angry with ms ni retuming his book
& On 8 For ' '
T Cver B All of these
36 Akram hes neval.acied lhe advice ol hiz'parents.
A O 8 Upon
LDue BIn
37 The son was accompanied iz father on the way {o school,
A With B By
G To . None of these
o, ACoording the nofification, college will remam opan.
A To B Wilh
G In . All of these
30 Al was addwled drinkimg
A OF E Jo
L With B Mone of fhese- _ _
40 Df fats, he has bsen appainied - th= post of managing direcior
A On 8 To '
€ In £ Bvar
41 He = baller than
Al B. Me
B My O Afl of these
£ s who savad your fife
A B. Me

B Mins O Mone of thesa



#3_ Lahoreis than any ol city In Pakistain

A Larger E. Lamge

8 |Lsroesi £ AH of fheze
44 He has only shiris

A nTew B Tew

B The faw b_ Al of thess
45 Hez =snior [TE 1N SEIVIES

A To 8 From

£ Of 0. None ol ihess
45 4 sienoing cla=zes since mamma

A Ha= been B is

B ¥Was o Al oftheze
47 He there ye=iemday

A Venl B Go

& Goes _ D Wil go
£5 | ez don ke slikdies

A_ Him B Hi=

B. Hea 0 None of these
48 Time snd lde for none

A Witz B. Wit

E Waling Tt Hone of thezes
26 Trlckal played By hem

A W¥az g, Were

B Wil O WWoukd

SECTION-B (VOCABULARY AND SUBJECTIVE)

G3=3, USE THE FOLLOWING PHRASAL VERES IN MEANINGFUL SENTENCES. (10 MARK )
| Give up '
. Put off
| Ses OfF
. Bring up
| Cail ot
3=4. CHANGE THE VOICE: (10 MARKS)
1. Botaonca
2. | aid not know him
3. Who will play crnicket”
4, Lelimedo my woark
5, She marred Al
G325, CHANG THE HARRATION. [0 MARKS)
1. Hesad | Wil yeu mtimaie me’
2. Heszat “Wher= do you Ines7
F Mothersag | “May vou win e maich®
4. Zaezhan szl °l| purches=d s-book ™
& Iffan s=d, T am ol besy togday”
G#6, TRAMSLATE INTD ENGLISH. (10 MARKS

gt Cgala | e o T |

e g g e g 4y 42
P e e

M o

L e e e M o2

Q7. WRITE AN ES5AY (200-250 WORDS] ON “COVID-19 PANDEMIC AND ITS IMPACTS ON

EDUCATION™ 10 MARKS)






CADET COLLEGE SPINKAI (SWA}
ENTRANCE TEST FOR CLASS g™
SAMPLE PAPER |G=n. STIENCE)

TEAME: ROLL HLIWBER:
COMICILE: EXANt EENTHE:
TOTAL MARKS: 20 Time: 45 Min. CODE NO: {Fat Office Bz Only)
CODENO: {Far office Use Gnky|
0% 1la): - F:El the hl'@_ : [AE3ris 1*5=5]
1 When light snter froum dencor 1o £ore l'm_;dlum, It bands narrmial
2 Thersteofthe corod af light inalr o tc guoed In 3 -m_;dlurﬂ iz zatied
3. The mixinz of 2nd £oiours Shves while coloul
£ The throe primary ¢okor of iight are ahd

. ThE Lnit of freguenoy is.
0% 1{b): Selext appropriale option: (Marks 0.5° 10=05)

1L Whnich omponent of fthe giv wSegan firs

= TEYSSN B neErogen
= fonz S flerm
2 Wizt = ihe W of Nitrogenm av
A 30% g TER
c By o s
E FII-.-T‘I.';'-.E'_E EE
A Mossmer g roly s
c Elgrr=rit ¥ Fertificar
4 The rafracion otcurs dle the diffsrence of & light in twe aifferant
mzdlz
A Freguancy z Tims paricd L. Speed o none of thess
2 Whizn flight ray mcdent narmzlly 2t the furfsce o7 waler
A BEnds fowards normsl B Bends sway frem the narmai
€ Pass straight £ Bounce bark
& Tperefroctive index of water ks .
217 B o123 i B3
. ANy e cokors whose combinaton-gve nss o lignt are callea

chmplementany <olors
= Sigles 3. Hod . Elue B White



CADET COLLEGE SPINKAI {SWA}
V ENTRANCE TEST FOR CLASS 8™
SAMPLE PAPER |Gen. SCIENCE)

£ Thedpeed of sound in dry 2fr2t 0°Ck Lt
.33 8 322 C as52 D 322

S Lishtyear (f the unit of
A T A Distanss Coapeed O, ‘Monsofthese

10, In suin 2nd staeg, Kydrogen 2tams 2re continiedely fusing into ruiz]
A Ancther Hydrezen B Helum £ Uranium U Carbons

SECTION[B]  (5*2-10)

Q.2: Attempt all guestions.
2. Whete SO, how does |2 ool r£.7
B SWhat i sdapiaton®
¢ What 21z the m2omum sng mitimum thes RO tierg?
d. -Defing Wavelength, Amplitude, Time perlod and frequency of wave?

=2 What =i8cid B3in? What arzits Barmful effests?




CADFET COLIEGE SPINKAIL (3WID)
ENTRANCE TEST FOR CLASS BTH

SAMPLE PAPER (SUBJECT ISLAMIAT)
ROLL NUMBEHE: NAMNE:

ExaM CENTRE: POMICILE:

"TOTAL MARKS: 20 Time: 30 Min  CODENO; {For Office Use Onlyj

NOTE: Wit your parcitass ealy on Spetified dlate Yolr aapst may be aangefied T any infofmation whish canlasd
io your Mdenbly B Fovdsd 31 Sny ShesplEie In FE dbssEon GE0er o SnTasr sheals

cC2EEND (Fok Gifice Use Snly)

=1 e e
wufid ST s Yy sy
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CADET COLLEGE SPINKAI [SWTD)
V ENTRANCE TEST FOR CLASS 87
SAMPLE PAPER [MATHEMATICS)

RANE: ROLL NUMBER:
DOMICILE; ExXAM CENTRES
TOTALMARKS: &0 Time: 1:30 Hrs. fODEND {¥or Office Uise Only]
COBE ND : iFor Offics Use Only)

MOTE: Writs wour parficulsrs only on Seecifed afacds Your

3psf mak be eghcslled i any informatioh which

Note: Use of calculator electronic gadgets is nol allowed.

= Attempt all questions. o
@1: Encircle the comect option 2, b; ¢, d of each part. (10%2=20)

R T I
| Valieof =iz

e S

5 3% b, 10% c 100 d, 1oL

I Which of the Toflowing. 1 egqual o7

3 IfeFteat B (2 —3)x 4f e FxFxs d F-FHx2PsFF
i A lin=s zegmenl joms any Wo pomis on the orcle s calisd &
2 ragms b, cocumference ¢ chord a arc

V. Iffhe lepglh of 2ach skde of the squilalersl fange = 1, hen iz penmseter of e =quiateral inangls i=-
I | b. 3=1

V. Whal musi be Subtracied from 22 s h tagel 2= — b

@, 28 b 2= & O d. 3aF3%
VI Which of fha faRowing & the co-efficientof s n 3s — 45 =7z -2 7

= = B 7 £ —3 d —=
VIl. The mumber 2822 1 s divisible by which of the follcwing®

o b. & A d. both 233

Vil “Which of the Toilowing. quadniaterais has af angles as roht angies, oppasie sdes egual and diagonals
hrizect =ach offae?

A sguate b reciangis c  Kile g rhombus

BX. On which of ths Tollowing percent profil or percent less 5 calnilaled?
& -sale pnce b. c¢estpoce C market price a nane of this

. Therafoof L bow fo 300 seconds i3

s

& 325 B 2.5 = - | d Sl

Q& 2: Fill i the Dlanks with correct and suitable answer. (1072=20)
| Which = grastsl —23ilor —313337

I —=+-=

Hi. Theparimater of rectangle of lensth 115 ot and width 2em s

Iv. Subtract (& — b} from (@ + b)), the Fetalt is

¥ i—l_ﬁl.-.-' old will | be-affer 10 years, Ifrny 222 before 10 yoors was ¥ yaong?

¥ A boak sald fof Rs 100 then there & profit of 28 20, 5o the profit persent it
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CADET COLLEGE SPINKAI [SWTD)
V ENTRANCE TEST FOR CLASS 87
SAMPLE PAPER [MATHEMATICS)

Haif of 1 percent & :
The dlzmester of & drgie pasizs throwgh the ot the argie

The compismentaty angies of a3 i

Choos= sporopriate number for diank: —11—4 ] =9
Attempt all parts. Each part camries § marks. {5 §=40)

). A recizngeiar park In Cedel College Spinkalis 45 m long - andg 30 mwlde & peth 25 mwide =2
constructed outside Ihe park Find the area of the path

by From the sum of 33 < 35z, " —yr—="gnd =+ 2¢* zoblcithe umof 3y —="ond —5° +yz=3t

e} & Cadat Caflege Spinkal mass has faod for 99 pes:;_nﬁs for 35 dayz. Forhowmany das Wil the same food
l=gl for 133 pergona®

gl If 152 of 3 numbar is 72, find the numbar

&) :Implfy 13+ Ty + 10) =6ly + 31



CADETY CDILEGE SPINKAI {SWTID)
ENTBEANCE TEST FOR CLASS B8TH
SAMPLE PAPER (RDLY
ROLEL NUMBEE: NAME
EXAM CENTRE: DONICILE:
TOTAL AARKS: 50 Time: | Hiz CODENO ; {For Office Usze Cnly)

NOTE Wis yeor gfisulaes anly on spesfied plec=. Your papet ay e candalled If Iy mformaticn weileh-oan lsad o
pou identty = provided 2t ary steecTizce n ihe guesiicn pecetor aAthas SnEeis
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CADET COLLEGE SPINKAI (SWID)
ENTRANCE TEST FOR CLASS 6TH
SAMPLE PAVER (PAKISTAN 5TUDIES' For Non Mushims Cnly)
ROLL NUMEEHK: NAME
EXAM CENIRE: DOMICILE:
“TOTAL MARKS: 20 Time: 30 Min  CODENO; {For Office Use Only)

rilr yOLF parEciias ealy on Specified dlaks Volr agpst may b posfisd iF any ifoimaton whish canlasd
NOTE: wWeikyn | pecified ) y be aanoelied i any irfolmation whish
io your Mdenbly B Fovdsd 31 Sny ShesplEie In FE dbssEon GE0er o SnTasr sheals

CODE ND [Far Offics Wse Only)

. = R !
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